EAST POINT SCHOOL

ASSIGNMENT-6 CLASS VIII

ENGLISH (MS. AREEBA /MS. EKTA)
Unit 2 : Chapter 1 — A Day in the Country
Assignment 6
Outline of the Story

A day in the country is a story about two orphans who were playing when a threatening storm
appeared which forced the residents to take refuge. Danilka, an eight years old boy, got his hand
trapped in the tree. Luckily, Danilka®s sister Fyokla, six years old girl went to the town for
asking help. Terenty a cobbler, assured to provide assistance to her to rescue Danilka. After the
storm passed, the three enjoyed the splendors of the country the rest of the afternoon. Danilka is
fascinated by nature and its beauty.

Summary

,A day in the country' is written by Anton Chekhov. It pays homage to an unsung hero, a
homeless cobbler whose name is Terenty. In the beginning of the story a beggar girl named
Fyokla, who is 6 years old comes running through a village. The village is preparing for an
approaching storm. She addresses everyone as “uncle”. She is searching for some particular
person. She finally finds Terenty in the kitchen-garden. He is a “tall old man with a thin, pock-
marked face, very long legs, and bare feet, dressed in a woman®s tattered jacket”. He does not
look like a hero. But Fyokla is searching desperately for someone to help in freeing her brother
Danilka, whose hand is stuck in a tree. Terenty does not give importance to the approaching
storm and talking reassuringly in fatherly tones he goes to free Fyokla“s brother.The story tells us
that Terenty “answers all questions, and there is no secret in nature which baffles him. He knows
everything”. The writer further adds that indeed “all the villagers, generally speaking, know as
much as he does”. But the difference is that Terenty is willing to share his knowledge and time
with the two orphan children. The children love him for this reason.The two children retire to a
deserted barn after spending the day with Terenty. And Terenty goes to the tavern. Chekhov
further tells about Terenty's sincerity and love for the two orphan children. Terenty comes back
later and puts bread under their heads making the sign of the cross while they are asleep. In this
way Terenty tries to make the lives of Fyokla and Danilka a little better than his own.

https://www.youtube.com/watch?v=02u2QcpijUeQ

Question and Answers

Why was Fyokla looking for Terenty?

Why did the little girl come looking especially for Terenty?

Why was Terenty respected?

What was the effect of change of weather on the following-
e The Sky
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https://www.youtube.com/watch?v=o2u2QcpjUeQ

e The grass and trees

e The people of the village
5. What happened to Danilka? What caused the accident? How did Terenty help him?
What had Terenty learnt about the ants and the bees?
7. Danilka looks at Terenty and greedily drinks in every word.

a. What is Danilka“s mood here?

b. Where were they?

¢. What was Terenty telling him?
8. Describe the change in Fyokla®s mood in the story.
9. The story reflects Terenty*s love for the children. Give three reasons to prove this.
10. The children were impoverished but joyful. Justify the statement.

o

Activity

Danilka got his hand stuck in the tree and needed help. Danilka’s sister Fyokla and
Terenty helped him. Have you ever been in a situation similar to Danilka, where you felt
helpless and needed somebody’s help. Did someone come to help you or you managed to get
out of it yourself. Describe your experience in 100 — 150 words.

SUBJECT SOCIAL STUDY ( POONAM PATHAK )
FROM TRADE TO TERRITORY

YouTube Link:-

https://www.youtube.com/watch?v=XcKLV4h9phQ

SUB TOPICS:-

The Battle of Plassey:

1. As aresult of denial of trading rights, on 23rd June 1757, Battle of Plassey was fought
and it was the first major victory of English in India.

2. Alivardi Khan died in 1756 and Sirajuddaulah became the Nawab of Bengal.
3. In 1757, Robert Clive led the Company’s army against Sirajuddaulah at Plassey.

4. Main reason for defeat of the Nawab was that the forces led by Mir Jafar, one of
Sirajuddaulah’s commanders, betrayed sirajuddaula and never fought the battle.

5. Mir Jafar was promised by Clive to be made Nawab after crushing Sirajuddaulah.

6. As par the deal Mir Jafar became the Nawab of Bengal after the defeat and death of
Sirajuddaula. But he was the nominal head of Bengal and actual power remained in the
hands of British.

The Battle of Buxar:

1. After the defeat at Plassey, Sirajuddaulah was assassinated and Mir Jafar was made the
Nawab.


https://www.youtube.com/watch?v=XcKLV4h9phQ

2. Mir Jafar was just a puppet in the hands of Britishers.

3. In 1764, the battle of Buxar was fought between Britishers and Mir Qasim, when Mir
Qasim denied the privilages given to Britishers.

4. Mir Qasim abolished the trade duty for everyone and transfered his capital from
Murshidabad to Mungair. But this was against the interest of British and they declared
war.

5. In this battle Mir Qasim, the Nawab of Bengal; Shujauddaula, the Nawab of Awadh and
Shah Alam the Mughal King fought against British and British forces were led by Hector
Munro.

6. In this battle British become victorious and they decided to control the territory by there
own.

7. In 1765, the Mughal emperor appointed the company as the Diwan of the provinces of
Bengal and they also got the Diwani rights of Bihar and Odisha.

ASSIGNMENT:-

Fill in the blanks:

(a) The British conquest of Bengal began with the Battle of
(b) Haidar Ali and Tipu Sultan were the rulers of

(c) Dalhousie implemented the Doctrine of

(d) Maratha kingdoms were located mainly in the part of India.

What attracted European trading companies to India?
Answer.

European trading companies were looking for new lands from which they could buy goods at a
cheap price and carry them back to Europe to sell at higher prices. The fine qualities of cotton and
silk produced in India had a big market in Europe. Spices like Pepper, cloves, cardamom and
cinnamon too were in great demand. These were the reasons that attracted European trading
companies to India.

5. What were the areas of conflict between the Bengal nawabs and the East IndiaCompany?
Answer.

After the first British factory was set up in 1651 on the banks of the river Hooghly, East India
company started allowing more of its merchants and traders to visit and settle down at the city of
Bengal. The reasons that caused the conflicts between Bengal nawabs and East India Company
were:

a. Nawabs denied concessions to the East India Company on many occasions
b. Nawabs also demanded large tributes from the company

¢. The company denied paying taxes

d. The company officials wrote insulting letters to the nawabs

6. How did the assumption of Diwani benefit the East India Company?
Answer.

Diwani rights are the rights that the British acquired to collect their own revenues and have the
authority to decide on civil cases. This right benefited East India Company in several ways:

a. It allowed the Company to use the vast revenue resources of Bengal



b. The monopoly of the East India Company on the trade started

c. Revenue of Bengal was used to export Indian goods out of the country
7. Explain the system of “subsidiary alliance”.

Answer.

The system of the subsidiary alliance made Indian rulers let go of their armed forces and come
under the protection of East India Company. The following changes occurred when this system
came into being:

a. East India Company became the guardian of the territories that it took under the alliance

b. An English resident, who served as the EIC’s personnel, was appointed in the territory to keep a
check on the ruler

c. The Indian rules were asked not to allow any other European companies to trade with them and
enter their territory

d. Indian rulers were told to pay for the subsidiary armed forces of the EIC, disobeying which led to
that part of the territory being forfeited by the company

8. In what way was the administration of the Company different from that of Indian rulers?
Answer.

The difference in the administration of the company and that of the Indian rulers is given below:

Company Administration Indian Rulers Administration

The company divided the territories into Indian rulers divided the territories into district,
presidencies pargana, tehsil and parishad

Governor ruled the administrative units Zamindar or Peasants were responsible for their units
Governor-General was the head of the King or Nawab was the head of the state

state

The introduction of several acts: Indian rulers brought no such acts but used to rule with

their farmans.
e Regulating Act

e Indian Council Acts
e Montague-Chelmsford Reforms

9. Describe the changes that occurred in the composition of the Company’s army.
Answer.

The army of EIC was known as Sepoy Army. The main participants of the army were the peasants of
India, trained by the EIC to become professional soldiers. The major change in the EIC army was
the domination of infantry over cavalry with the introduction of muskets, matchlocks to guard them.
The company also introduced a uniform military culture where soldiers were given European training
through drills and other exercises.

CLASS —-VI11 SUBJECT -SCIENCE ( PARUL TYAGI )
WORKSHEET



Link- https://www.youtube.com/watch?v=BgFKxPdnZ1U.

Introduction

o Man-made fibers and not derived from natural sources are called synthetic fibers. E.qg.
Nylon, rayon, polyester etc.

e Synthetic fibers and plastics are made up of molecules called polymers.

e A polymer is a large molecule formed by combination of many small molecules, each of
which is called a monomer.

e The structure of polymer can be compared to that of bead neckless- the bead being the
monomers.

e The process of combining the monomers to form a polymer is called polymerization.

Types of Synthetic fibers

e Rayon

e Nylon

o Polyester

« Acrylic are some synthetic fibers.
1. Rayon:

Rayon is made from wood (artificial silk) pulp, a naturally- occurring, cellulose- based raw
material. Rayon is moisture-absorbent and comfortable to wear.
Uses of Rayon

o Home furnishings such as bedspreads, bed sheets, blankets, curtains, tablecloth,
carpets etc. are made from rayon fiber, as it has a silky lustre.
e lItis strong fibre, it is used in automobile tyre cords.
e Itis used to make apparel such are suits, jackets, slacks etc.
2. Nylon:

Nylon was the first synthetic fiber to be made entirely from chemicals.

e Basic raw materials for the production of nylon are coal, petroleum oil, water and air.
« Nylon fiber is very strong and elastic.
e Itis light and wrinkle- resistant.
o Itis easy to wash and absorbs very little water.
Uses of nylon
e Garments such as saris are made from nylon. Since it is wear resistant, garments made
from it last for a long time.
e Being very strong, nylon fiber is used to make ropes, tents, fishing nets and parachutes.
e Itis also used to make toothbrushes, combs, zip fasteners and machine parts.

3. Polyester:
Polyester is a polymer of many ester units.

e Polyester is manufactured from petroleum.


http://www.youtube.com/watch?v=BqFKxPdnZ1U

o Polyester fibers are extremely strong, very durable, resistant to most chemicals and do
not get wrinkled easily.
« Polyester does not absorb water, so it dries quickly.
o PET (Polyethylene terephthalate), the commonly used polyester, is made from two
monomers by condensation polymerization.
Uses of polyester
o Polyester is used to make pants, shirts, suits and bed sheets either by itself or as a
blend.
« Its water- resistant property makes it ideal for garments & jackets that are to be used in
wet or damp environments.
4. Acrylic:

Acrylic is a light weight soft and warm synthetic fabric which has a wool like feel.

e It does not shrink is wrinkle- resistant and cheaper than wool.
e It can also be dyed very well in a variety of color.
Uses of Acrylic
e Strong & warm, acrylic fiber is often used for making sweaters and tracksuits and as
linings for boots and gloves as well as in furnishing fabrics and carpets.
e lItis used in craft yarns, boat sails and vehicle covers.

Characteristics/ Advantages of synthetic fibers

They are stronger, more elastic and make tough and durable fabrics.
They are color- resistant and do not bleed color when washed.

They are easy to wash and dry.

They do not shrink when washed.

They are resistant to attack by moths.

agkrwnE

Disadvantages of Synthetic fibers

1. Synthetic fibers cannot absorb moisture. This makes them unsuitable to be worn during
summers when our body sweats.

2. Itis dangerous to wear them while near fire, as they catch fire easily.

3. They cannot be easily ironed as they melt very easily.

Plastics

A material is said to be ‘plastics’ if it can be molded or formed into different shapes.
Classification

Plastics can be broadly classified as thermoplastics and thermosetting plastics based on how
they react to heat.

Properties & Uses of plastics
1. Plastic are poor conductors of heat and electricity. So they are used to make covering of

electric wires and handles of tools.
2. Plastics are highly resistant to chemicals and water.



3.

Plastics are lightweight, strong and durable and are therefore used to make parts for
aircrafts, cars etc.

Problems with excessive use of plastics

Plastics are non- biodegradable and do not decompose for several years. When plastics are
burnt, toxic fumes are released into the atmosphere causing pollution.
How can this problem be solved?

1.
2.
3.
4.

Q1
Q2
Q3
Q4

Q5
Q6
Q7
Q8
Q9
Q10

Never throw plastic bags or other plastic articles into water bodies, drains or on roads.
Carry cotton or jute bags for shopping.

Buy products with less plastic packaging.

Recycling and reuse of plastics should be encouraging.

Write two uses of nylon.

Define polymer.

Write the name of material coated on nonstick cookware.
Complete the following

(a)Polyester + cotton = ---------

(b) Polyester + wool =-------

Show by an example that plastic is non —reactive.

Write an activity to show that the cotton absorbs more water then synthetic cloths.
Write the full form of PET and PVC.

Explain 5 R*S.

»Synthetic fibre is need of time* comment on it.

Differentiate between thermoplastics and thermosetting plastics.

Class 6“‘ subject: social science (Geography) ( MS. NIDA )

Chapter2: Land,Soil, Water,Natural vegetation and wild life

resources

Study material

Land: -

e One of the most important natural resources .

e Covers about 30% of the total area of the earth surface.

e The reason behind uneven distribution of population in different parts of

the world is mainly due to varied characteristics of land and climate.

e Areas which are normally sparsely populated :rugged topography, Steep

slopes of the mountains, low lying areas which are susceptible to water
logging , Desert areas, thick forested areas.



e Areas which are densely populated: Plains & river valleys offer suitable land
for agriculture .

Land use:

e Agriculture, Forestry, Mining , Building houses, roads & setting up of
industries etc are the uses of land .



e The factors that determine use of land are, Topography ,soil, Climate,
minerals, Availability of water.

e Important determinants of land use pattern are human factors (such as
population) & technology.

e Land division on the basis of private land & community land.

e Private land is owned by individuals

e Community land is owned by the community for common uses like
collection of fruits fodder etc.

Causes of degradation of land resources

e Large scale destruction of forest cover & furtile land due to increasing
demand .

e OQOvergrazing.

e Overirrigation.

e Mining.

Conservation of land resources.

e Afforestation.

e Land reclamation.

e Regulated use of chemical pesticides & fertilizers.
e Avoid over grazing.

Video link

https://www.youtube.com/watch?v=6pbdgm40KFw&feature=youtu.be

https://www.youtube.com/watch?v=EN34lyn GEU&feature=youtu.be

SAMSKRIT ( MR. SANJAY) ( CLASS VIlil)

https://youtu.be/AuXFrlid xI



https://www.youtube.com/watch?v=6pbdqm40KFw&amp;feature=youtu.be
https://www.youtube.com/watch?v=EN34lyn_GEU&amp;feature=youtu.be
https://youtu.be/AuXFr11d_xI

CLASS VIl
MATHEMATICS ( MS. SHIVANGI )

Chapter — Exponents and Powers

Please watch this video
https://www.youtube.com/watch?v=qi2wTREepaA

Q.1 Write the following in standard form:


https://www.youtube.com/watch?v=qi2wTREepaA

a. 0.0035
b. 365.05
c. 0.00000000045
d. 6020000000000
Q.2 Write the following in usual form:
a. 4.83x10”
b. 5.6 x 10°*
c.3x10°®
d. x 10°
Q.3 Express each of the following rational numbers with a positive exponent:
a. (3/4)°
b. (5/4)°
c.4*x 4”
d. ((4/3)°)"
e. ((3/2))?
Q.4 Evaluate:

i.
Q.5 5 books and 5 paper sheets are placed in a stack. Find the total thickness of
the stack if each book has a thickness of 20 mm and each sheet has a thickness
of 0.016 mm.
Q.6 Findthevalueofpif€) (=) () -

Q.7 If5”" +25=125 find the value of x?
Q.8 Mass of the earth is (5.97 x 10*) kg and mass of moon is (7.35 x 10**) kg.

What is the total mass of two?

Activity : http://www.math-play.com/exponent-game.html



http://www.math-play.com/exponent-game.html




